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POENZE L 1.722 1. 702 3.424
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L m3 0. 744 0. 732 1.476
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D16 N 104 104 208
EE
= D16 % 6640 (1. 56kg/m) N 4 0 4 0.041t
D16 % 6540 (1. 56kg/m) N 0 4 4 0.041t
&
" W % D16 % 6580 (1. 56kg/m) S 0 0 0
D16 X 6500 (1. 56kg/m) S 0 0 0
H
D16 % 6550 (1. 56kg/m) S 0 0 0
D16 %6600 (1. 56kg/m) S 0 0 0
"
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301 X 0 0 0
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a2 ) — hEERR m 13.28 13.08 26. 36
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BB HEN L eSS 0. 744 0.732 1. 476
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P - 15em m 1.6 1.6 3.2
L i ® # R - 20cm m 0.8 0.8 1.6
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3-1. AlBEED
1) 2

T 7 YaA L CDxX-20 HIEA (CkikkiEE)

L = 6.640

2) T—JUHF

L = ( 0.611 + 0.250 )X 2
V. o= 1.722 X ( 0.030 + 0.020 ) X 0.020 X 1000

3) T —h

gl

HOEE  FTIART U —
AV AN i

HOEES  FTIART U —

4) IR
A DI6 X 6640 mm N=
W =  1.560 X 6.640 X

5) a7 ) —
vV = 0.140 X 0.400 X 3.320
+ 0.140 X 0.400 X 3.320

6) HAEAl
20 H 25 A

7) BERfbfELE E RS T

D16

D16

i - PERSALEE (A= 7 U — bak)

vV = 0.140 X 0.400 X 3.320

_I_

0. 140
0. 140

0. 140

+ 0.140 X 0.400 X 3.320 + 0.140

X 0.400 X 3.320
X 0.400 X 3.320

X 0.400 X 3.320
X 0.400 X 3.320

6. 640

1.722

= 1. 722

52

52

41.434

0. 744

0.744

—

kg

m3

m3



3-2. P1F&MH - P24 IHIED
1) 2

T 7 YaA L CDxX-20 HIEA (CkikkiEE)

L = 6.540

2) v—ILkt
L = ( 0.601 + 0.250 )X 2

V o= 1.702 X ( 0.030 + 0.020 ) X 0.020 X 1000
3) T —fh
AR
HOEED ABRT v d1— D16
INT Xy M|
HOEED ABT v 1 — D16
4) IR

A DI6 X 6.540 mm N= 4 K

W = 1.560 X 6.540 X 4

5) a7 ) —
vV = 0.140 X 0.400 X 3.270 + 0.140
+ 0.140 X 0.400 X 3.270 + 0.140

6) HAEAl
20 H 25 A

7) BERfEREE RS T
- PEFEALEE (A= 7 U — hak)
V. o= 0.140 X 0.400 X 3.270 + 0.140
+ 0.140 X 0.400 X 3.270 + 0.140

X 0.400 X 3.270
X 0.400 X 3.270

X 0.400 X 3.270
X 0.400 X 3.270

6. 540

1.702

= 1. 702

52

52

40. 810

0.732

0.732

—

kg

m3

m3



